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General Instructions :

(i)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. R H gt & STH aTel Seit i feramRerT s & & 2
What has been the ideology of left parties in India ?

2. 3TIgrad SiqEl, g SHeaAr q9T 37 USe S o SAde STRET0T i AT oh
T 3 € 2
How far is the demand for reservation beyond SCs, STs and OBCs justified ?

3. WIEHide GHEIAT T Wiehiaeh Ao § e T HifTT |

Distinguish between cultural homogenization and cultural hetrogenisation.

4, ORA-EG T i HE U At faeiedr &1 Seoig ity |

State any one special feature of Indo-Russian friendship.

5. Tr=fefad 8 & o Q1 ST §RT STHharg & fobg 39 dfvass g5 o fewar ot 2

(a)
(b)
()
(d)

RIA TS1e &M
FT TR
difeanty ar

Which one of the following was a part of its global war on terrorism by the U.S. ?

(@)
(b)

(©
(d)
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‘Operation Desert Storm’
Computer War

‘Operation Enduring Freedom’
Videogame War



6. 39k foaR H, T SFIYY Wied XA FaTcHehdT i Gg T i [T § Teh ek T 37l
T 3T (9Rg g o U1 | 2 2

In your opinion, was Anandpur Sahib Resolution a plea for strengthening federalism

or a plea for separate Sikh nation ?

7. g (F) | ST T AT G (3N) T T T Aaret & A ok A GE HA BT | 4x Vs =2
(30 €))

(a) ATST TRTGT WA (i) YR Ar=ER! S (AR eTaT)

T GEATIH

(b) T TSH IERE (i) SLUHF, H GEUEH

(c) =% FFRR (iii) 1952 | 1986 H Tg T ST WA & |
(d) STTSEa T (v) & S-S A B UEg AR 3
e

Match the following leaders in List — A with the suitable statements in List — B :
List - A List- B
(a) Lal Bahadur Shastri (i) Founder of Communist Party of India
(Marxist-Leninst).

(b) C. Natarajan Annadurai  (ii) Founder of D.M.K.

(¢) Charu Majumdar (iii) A Member of Parliament from 1952 till his
death in 1986.

(d) Jagjiwan Ram (iv) Coined the famous slogan ‘Jai Jawan — Jai

Kisan’.

8. T I & IR SATHI WRART gRT Wb ael T & ®9 | 9@ T, 3 T e
T THAT BT TR gid =7 & I9aTd g8 | 2x1=2

Assess the commonly agreed upon two goals visualized by the Indians during the

national movement which have been fulfilled after independence.
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9.  &¥AIT MehtaTeT ¥ fue Sf o | cAiehdife STaeia o aRiehl b iR FI e T | 2

Assess the role of democratic negotiations in responding to regional aspirations.

10. 1960 % T2F W, I HEWIHTAT 1 SFART i &g W a0 o910 W= & f&w, = 4
THA] 9T g&ATe fohT 2 2x1=2

Starting in the 1960s, the two super powers signed which two significant agreements

to control arms ?

11. <9 & seicgae § guR & d6ss, 99 & oM W Ug 30 el IR JOmEr & Seoid
I | 4x1=4

Mention any four negative consequences on the people of China inspite of

improvement in the Chinese economy.

12. HIF T YOI IN0E § ARG % S §5 % 9§ Y6 H FS 0 T GA od § 2
WL HIT | 4

Why do some countries question India’s inclusion as a permanent member of the

U.N. Security Council ? Explain.

[a¥a

13.  SYelh{uT o GRS 5T &l HIETHT ol Hd I [Hell & ? ST ST | 4

How has state capacity received a boost as a consequence of globalization ? Explain.

14, AT YR | URH T AhT 376 Toh JagM & diish hd 98eid © & 2 0T 9 T Hifew | 4

How did the methods of voting in free India go on changing from time to time till day ?

Explain the reasons also.

15. 1979 H SHAT WK & T & [oT0 STREET fheel TR HRehT T [Ieeiior HifT | 4x1=4
Analyse any four factors responsible for the downfall of the Janata Government in
1979.

16. @R & 9RA H foerd & forw sweemEt uRfefaat st we S | 4

Explain the circumstances that led to the accession of Hyderabad to India.
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17. = ST U STEaR0T S SAFYES ST HINTT a2l 39 T SER U1 o I [a

RTOT URTAT H ek 1 Nehis MHeT-S[el @1 € | 30 aas[s ieT0T U <91 bl STar
TR Y ST H TeWTH & | 36 &1 % Ut o M § 81t 8t § Uk Ty fohar
o | WA | AT AT SAMeX g2 foh 7 Ural S | Alhe 1 AU SH-GHAT 1t & | 39
I | & A SR g9 % 3T AN — T Bl 3T T © 3T AAHTeTeTeh oo
GEAST T I FA € | T S o AN WA D (hEl 3T UM I T Al
T I & 3R WA € o 37k 391 o FeTw wAveer & 3k | 3 R 92 weequl § it
TEe! W T ST @7 € 15 cArhes fawh fowd & 1 391 | ol-%el Tl & | 39 foremt @ 3
At 30T URSTET o FAIhAS % SNl | FAIhAS i AfYesh FHedT S ITERT TG ¢ |

oo 0

(i)  WidFTTeT Tishds i TAIHITIar T SThe BT |

(i) RToT URET & Ui o I H Aehad P ATS U o % HROT 1 foweror
HIT |

(iii) 37T 3T HUT H Hel d% TeHd & [ Arha ool [aval & &1 390 H & Hed-TeT Fehall
g2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Despite the mixed record of the democratic experience, the people in all these
countries of South Asia share the aspiration for democracy. A recent survey of the
attitudes of the people in the five big countries of the region showed that there is
widespread support for democracy in all these countries. Ordinary citizens, rich as
well as poor and belonging to different religions, view the idea of democracy
positively and support the institutions of representative democracy. They prefer
democracy over any other form of government and think that democracy is suitable
for their country. These are significant findings, for it was earlier believed that

democracy could flourish and find support only in prosperous countries of the world.
(i)  Assess the popularity of representative democracy.

(i) Analyse the reasons for the widespread support for democracy in the five big

countries of South Asia.

(iii) How far do you agree with the statement that democracy can flourish and find

support only in prosperous countries ?
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18.

19.
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frTaiaa STaaRo St SAYe TieT a2l 39 IX SMER Tl o I AM

AR o T [ GRALIEI AT e HRaTs el aidl | $8eh T (ohal Toeat 9
Uifed S T - Thsle BT 3 TH STUeTST & Wi Ukt | 33T St & | 39
AFRERT, ST Sl T HH AN i 2T STHRT B AR STITEH T & AMh AT I8
g o Slihas i XT3 | o F-HN TG F Gehdl & | IRA & HIHIH TR0 g
fet & ST H SITES T % T FH § Yo & | UH | T STRIer1 = bl i arer et
qgaTt Sfosh ST fordR fohaT § |

(i) AR % IRUTHEET YR 6t et [t T TR &1 Sooid HiT |

(i) 37T Fel T Teud ¢ b QIISTeh STRIHT = olisha s i STeT &l gl sfesh ST
foeR fham 2 2

(iii) AR i T qT ST & s 1 Gay & 2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Movements are not only about collective assertions or only about rallies and protests.
They involve a gradual process of coming together of people with similar problems,
similar demands and similar expectations. But then movements are also about making
people aware of their rights and the expectations that they can have from democratic
institutions. Social movements in India have been involved in these educative tasks
for a long time and have thus contributed to expansion of democracy rather than
causing disruptions.

(i) Mention any one right granted to the people of India as a result of any movement.

(ii) How far do you agree that social movements have contributed to the expansion
of democracy rather than causing disruptions ?

(i11)) What is the relationship between the movements and the democratic institutions ?

FATANEd 3TEART T SAMYash a9 HIT q2l 3Tk YR T T 70 U9 & I

fefa

TRATY] 5 I TR H A1 TeTl Bl T hAH ST TS ok 3 - fastar ®iF & — T@ ag
FHEAT Hf ST T | 3R T 379 I3 T STHHT FXeh STk IRATY] ERRIRT Bl AT i
I BT FIAT & T T TR % I I Tag HXA A9 AR o S | I1 & uedi o
U TS & el 3R TRER THTH TEAM Dl ST &THT &It & 16 g off TeT I hl
TR & IS ARA | TH TRE, TR % dr e Uidgigal e & SeNg Inads
TSI 5 T € Tal of ohT 3 T TR & Wl | IR e i e 7 g
ar T2t e e, wifer T feafa areaiies ufagfgan =t =7 U 9l |

(i) TewIoRTar & st el Widgigar shael Siads & T -t @l 2
(i)  JHT TRE] WHTAT S AT G e I I Hunige F 6 @t qehdr 2

(iii) ‘3T’ & b ol L HIT | 2+42+1=5



Read the following passage carefully and answer the questions that follow :

In the event of a nuclear war, both sides will be so badly harmed that it will be
impossible to declare one side or the other as the winner, even if one of them tries to
attack and disable the nuclear weapons of its rival, the other would still be left with
enough nuclear weapons to inflict unacceptable destruction. Both sides have the
capacity to retaliate against an attack and to cause so much destruction that neither
can afford to initiate war. Thus, the cold war — inspite of being an intense form of
rivalry between great powers — remained a ‘cold’ and not hot or shooting war. The

deterrence relationship prevents war but not the rivalry between powers.
(1) Why did intense rivalry between the super powers remain a cold war only ?

(i1)) Why can’t a nuclear war between the two nuclear powers be decisive ?

(111) Explain the logic of ‘deterrence’.

S ST T I T A 378 HIT T Fefefad wet & e e -

(i) A H IE 3R G AT Sl ga-T Y 3GHT A feAf@m |

(i) & I T a1 OT H fohg TR o Weiell ol SO & 2

(iii) TSTETST ol GHET Hl & HH & [ T A T al §RT ST 79T AT, AT

T |, el dh el T&T 2 1+42+2=5
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Study the following cartoon carefully and answer the questions that follow :

T S ——
'Lg lo No, Don't Get up
] your Highness. Just give
& me this. That will do g‘
f A3
/
2

\¢

This cartoon comments on the relation between - ]
the people and the rulers in the Princely States.

(i) Identify and name the leader shown on the right in the cartoon.

(i1)) What type of relationship does the cartoon indicate between the people and the
ruler ?

(iii)) In your opinion, how successful was the approach adopted by the leader on the
right to solve the issue of Princely States ?

Al =g a7 Saet ety TiemteE & fow ueT 9 20 & = WE |
20.1. STARIATA 6& i Teail HHANYS H SU-FEHAT i o 2
20.2. WeAdud W &R FXA § Yd, AR % TeReT H 9Ra WHR §RT -7
ATTeTH feam T o 2
20.3. IEE B UST § ¥ o5g ot = Fomy & foeg ST S 3R 2 1+42+2=5
Note : The following question is for visually impaired candidates only in lieu of

Q. No. 20.
Answer the following questions :

20.1  Name the Deputy Prime Minister in the first Council of Ministers under
Jawaharlal Nehru.

20.2  Before signing the Instrument of Accession with the Indian
Government, what assurance was given to the Maharaja of Manipur ?

20.3  Which section of the people in Hyderabad rose against the Nizam and
why ?
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few T fae & AT T et 5 9w 39 (A), B), (©), (D) @ (B) 3w s M

£ | A & TE BRI % SR W S UEEIT a9l S A, WEIT i TS STehRT i e
AT FAT T 3T ol S TE AfeTohT o €T | ST ST-YRersht # feafaw |

AT HT AN

@
(i)
(iii)
(iv)
)

(i) & 39T ST S 1992 § geat et g3t o |

(i) T T3 T 1 T STkl 99 |

(ili) SrY-foRr, Fat TS SARierT o oTd ST ST ol <97 |
(iv) Tel-UIeishicl b STeardTal ¥ qar TN 7T 397 |

(v) Towa 5 @i 91 %1 3O TSR 6 T 8T S <9 |
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In the given political outline map of the world, five countries have been marked as
@, , @, @ and @ Identify these countries on the basis of information given

below and write their correct names in your answer book along with their respective
serial number of the information used and the concerned alphabets as per the

following format :

Serial No. of the information Alphabet Name of the

used concerned Country

(i)
(i)
(iii)
(iv)
(v)

(i)  The country where ‘Earth Summit’ was held in June 1992.

(ii) A leading contributor to green house gas emissions.

(iii)) A country known for its anti-dam pro-river movements.

(iv) A country exempted from the requirement of the Kyoto Protocol.
(v)  The second largest producer of crude oil in the world.
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AT ATAEd T et gieartad gt & fofT e 9e 21 & =_H W E |
e ST TTT Ut % 3R T
21.1. 39 <30 HT A FAT@Y ST 1987 H Hifgaer THH W g&eR 5 7T |
21.2. 39 I H AW fARaU & 1997 H TSt Meihier’ W qeAtd st 2
21.3. “TEi & IS o 07 0 T SRR faeptad 3ui @ € 17 I giesnior
T fh S9 T
21.4 SO0 AR 1 i 9T 297 3794 -SRI o fe1T ST STrr & 2
21.5 SRA0T ST % 3 S HT Sooi@ HISTT ST 41 o HIE ST H 3T qad

FARE | 5x1=5
Note : The following question is for the Visually Impaired candidates only, in lieu of
Q. No. 21.

Answer the following questions :
21.1 Name the country where ‘Montreal Protocol’ was signed in 1987.
21.2  Name the country where ‘Kyoto Protocol’” was agreed upon in 1997.

21.3  Which country mainly advocated the view that the major responsibility
of curbing gas emissions rests with the developed countries ?

21.4  Which country from North America is known for its forest movements ?

21.5 Mention the South American country which is facing enormous
pressure due to deforestation.

22, YRA ¥ TH THR AT =AGUCTHT o S TS ol ST 3 dTet HSATHAT 3 TR0 BT | 6
AT
1969 H Ut % oIS & UvETd, U UMC i Gl & folt STRerEr aRfefaat
fareetuoT ST | 6
Examine the developments that gave rise to the conflict between the Union
Government and the Judiciary in India.
OR

Analyse the circumstances that led to the restoration of Congress System after the
Party’s split in 1969.

23, YRd % G ST STEAHT o QT Hhy Tee g A6, Y atad TR | Jarerd el -

SREHIOT T fagetooT ST | 3x2=6
AT
IR 3R THARYT & S TREANE Tael § HaAws] T et Sy | 6
Analyse any three different views within India about the type of relationship India
should have with the U.S.
OR

Analyse the differences in relationship between India and Bangladesh.
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24, T U G IR % Y T TIF I dTel o [oTT JRiferd diF AT HHEUSl T i
FHINT | 3x2=6
3T
G Sl SR TR o T Hlel o ST e Tael HeMIal s gui iy | 6

Describe the three new criteria that have been proposed for new permanent members
of the U.N. Security Council.

OR
Describe health epidemics as the new source of threat under the non-traditional
sources of threat to security.

25. ST 3R HYHR Hi TSHIT i AT Gamsrng s & ol SIS ST a9 S{iaRe aamr

T U BT | 3+3=6
TeraT

TG e A GF F U, IR Hl TSI W GEE TG BIEA At [l diF W

TSATET T AU HISTT | 3x2=6

Describe the external and internal disputes responsible for making the politics of
Jammu and Kashmir continuously controversial.

OR
Describe any three major developments that left a long lasting impact on the politics
of India after the death of Rajiv Gandhi.

26. Magg A H TIRUT T5ieH H IR 7 69 TR Hewqol AT 9 2 =
FHT | 6
AT
ferea AT O TFIX 3T HaliTersh SiRTenelt <91, Tifoad ¥ o1 foafed gam 2 &g 3 HRUT T
HIMT | 6x1=6

How did India play a crucial role in the Non-aligned Movement during the Cold War
period ? Explain.

OR
Why did the Soviet Union, the second most powerful country in the world,
disintegrate ? Explain any six reasons.

27. 1962 % UvETd YRA-9H FaEl W Ig e i et SHif | 6
reran
IRA 70T foeer i Bt wifaqur &1 ¥ ] S q° ST ISl | 99 WA | Al as%
b BT ? 33MeL0T Joh Wt cI’;\II(\“'IQ | 6

Analyse the impact on Sino-Indian relations since 1962 onwards.

OR
How far has India been successful in conducting its foreign policy peacefully and
avoiding international conflicts ? Explain with the help of examples.
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